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QUESTION 1

Scenario: A Citrix Engineer manages a Citrix Virtual Apps and Desktops on-premises environment, which includes the
following Citrix infrastructure servers running in the datacenter: Two Citrix Gateway servers Two StoreFront servers Two
Delivery Controllers One Citrix Director server One Citrix License Server Two SQL servers

The engineer needs to move the Control Layer to Citrix Cloud as part of the business goals for this year.

Which statement is true regarding Citrix Gateway for this environment?

A. The Citrix Cloud Connector acts as a Secure Ticket Authority (STA) server on the Citrix Gateway

B. Citrix Gateway must be moved to Citrix Cloud

C. Citrix StoreFront must be moved to Citrix Cloud

D. The Delivery Controllers act as Secure Ticket Authority (STA) servers on the Citrix Gateway

Correct Answer: B

QUESTION 2

Which PowerShell cmdlet is used to check the connection string, which connects the Citrix Delivery Controller to
communicate to the site database?

A. Get-BrokerServicelnstance

B. Get-BrokerDbconnection

C. Get-BrokerConnectionLog

D. Get-BrokerinstalledDbVersion
Correct Answer: B

Reference: https://support.citrix.com/article/CTX238581

QUESTION 3

Scenario: A Citrix Engineer configured two Sites: Production and Disaster Recovery. During an outage in the Production
Site, the Virtual Delivery Agent (VDA) registration in the Disaster Recovery Site has failed.

What are two possible causes for this issue? (Choose two.)
A. TCP port 443 is NOT open between the VDA and Delivery Controllers on the Disaster Recovery Site
B. The VDA is configured with a GPO to register with the Delivery Controllers from the Production Site

C. The Delivery Controllers were set manually during VDA configuration and point to the Production Site
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D. The Delivery Controllers in the Disaster Recovery Site were NOT able to contact the Delivery Controllers in the
Production Site to complete the registration process

Correct Answer: AD

QUESTION 4

Scenario: A Citrix Engineer needs to make a change to the OS Layer. The OS Layer is currently used in several layered
images that include different application layers.

Which two steps should the engineer take to make the necessary changes to the OS Layer and the layered images
while minimizing administrative effort? (Choose two.)

A. Update all application layers associated with the existing OS Layer.
B. Recreate all application layers associated with the existing OS Layer.
C. Create new templates that include the required layers.

D. Update the existing OS Layer with the needed changes.

E. Update all templates that include the existing OS Layer.

F. Create a new OS Layer with the needed changes.

Correct Answer: BD

QUESTION 5

Scenario: A Citrix Engineer is maintaining a Citrix Virtual Apps environment. The engineer has recently noticed two
single-threaded applications consistently consuming 25% of the CPU resources, causing substantial performance
issues for users of these servers. The engineer has deployed Workspace Environment Management (WEM) within the
infrastructure and enabled CPU Spikes Protection.

What else can the engineer enable within WEM to address this issue?

A. Exclude Specified Processes and add the two problem applications

B. Process Affinity and add the two problem applications

C. CPU Clamping and set it to 10% for the two problem applications

D. Limit Sample Time and set it to 10% for the two problem applications

Correct Answer: C
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